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Integrationstabelle
4 | M M | TTUTINM | M [ M, ST M- M =My e M e
1 1 1 1
m T ImM —mM —mM —m(M, +M,) 0 —mM —mM
2 2 2 4
1 1 1 1 1 1
TSI ™ —mM —mM —mM —mM, +2M,) -—mM 0 —mM
2 3 6 6 6 4
1 1 1 1 1 1
m T —mM —mM —mM —m(2M, +M,) —mM —mM 0
2 6 3 6 6 4
1
—[m M, +M
mlmmmmmmmr ~M(m, +m,) —M(m, +2m,) —M(2m; +m,) 6 L GV 3 lM(ml_mr lmlM lmrM
+m, (M, +2M,)] 6 4 4
m o= 0 LY LY Lo, -M) LM Lo LY
6 6 6 3 4 4
m M= LM 0 LM lli LM LY LM
4 4 4 4 4 8
o T Lom LY 0 lmMr LM Y LRy
4 4 4 4 8 4
1 1 1 1 | 1
B[] —mM —mM —mM —mM,; +M,) 0 —mM —mM
m 2 4 4 4 8 8
a b
i LM Lomfi+2 Lomf1+2 Lo [142 oM [142 ~mM|1-22 Loam(2 Lom(2
m 2 6 / 6 / 6 / / 6 / 4 / 4 /
T 3mM lmM lmM lm(Ml +M,) 0 lmM lmM
m 3 3 3 3 6 6
m [T gmM lmM imM Lm(SMl +3M,) lmM lmM LmM
3 4 12 12 6 24 24
I EmM imM lmM im(3M1+5Mr) —lmM LmM lmM
3 12 4 12 6 24 24
T m lmM lmM LmM Lm(M1 +3M,) flmM fLmM imM
3 4 12 12 6 24 24
m [ lmM LmM lmM Lm(3Ml +M,) lmM imM —LmM
3 12 4 12 6 24 24
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c d
P—— =TI Ny UM | M [ TTIMEM | T M | M [
1 M M M
m [T lmM lmM —mM grnM zmM lmM lmM
2 2 3 3 3 3
1
e ) LY —mM[1+Ej LY LM Iy LM LM
4 6 ! 3 4 12 4 12
m T lmM lmM [1+ij lmM imM lmM imM lmM
4 6 ! 3 12 4 12 4
d
mlmmmmmmmmr —M (m; +m,) —M{m][l+7j+mr[l+%ﬂ —M(m, +m,) —M (5m,; +3m,) —M(3m, +5m,) —M(m, +3m,) —M(@Gm, +m,)
] 1
m [me——il-m 0 —mM 1—23j 0 LRy ——mM LM LY
6 l 6 6 6
1 d
m D]]IDEW_‘@'I; lmM —mM[—] lmM lmM LmM —LmM imM
8 4 / 6 24 24 24 24
1
- I —mM —mM(Ej LM LM T mM S M LM
4 ! 6 24 24 24 24
2
M/
~ LY =L 3—4(% 2 M 17 M 17 M T M T M
m 3 12d 1 12 48 48 48 48
2 2 2
a b 2 mM / a (a) (c 2 2 2 2
e mMIFS 43 6ad ( ] (1) (;]] ~mM 1+% L m|s-2_(2 Lom|s-2_(2 —mM |1+ 242 Lonm|1:24(2
m 126 / ! 12 ! [ 12 1 / l / /
fiira>c
d
T S M —mM[H—C—z] LY 7 mM 7 mM LM LM
m 12 ! 15 15 15 5 5
2
1
m = 17 M —mM 5—5—(Ej T M LIV LY RV ERNY
48 12 l l 15 15 30 15 10
2
I ™ 1—7 M LmM S—E—(gj lmM £mM imM imM imM
48 12 l / 15 30 15 10 15
2
1
I m T mM —mM 1+3+[5] LM 2 mM 3 M Lmm Lmm
48 12 / l 5 15 10 5 30
2
1 d (d
m ([ lmM —mM 1+—+[—j lmM imM imM LmM lmM
48 12 / [ 5 10 15 30 5
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